
CALIFORNIA INSTITUTE OF TECHNOLOGY       DRWG NO.     REV  GID

MASSACHUSETTS INSTITUTE OF TECHNOLOGY     E1000854-v1
SHEET 1 OF 1

ASSEMBLY NO:

BILL OF MATERIALS D1003276-V1

TITLE:
ITM ELLIPTICAL BAFFLE RIGHT ASSEMBLY

APPROVALS: DATE: REV DCN NO. BY CHECK DCC DATE

DRAWN / AUTHOR:
CIT, CC 10-Dec-10 v1 E1000855 MRUIZ

(REFERENCE CONTENTS)

CHECKED:

APPROVED:

DCC RELEASE

ITEM NO REQ. SPARE TOT. PART NUMBER REVISION DESCRIPTION MATERIAL

1 1 0 1 D1002750 V1 ITM ELLIPTICAL BAFFLE SKIN ASSY
A424 TYPE I, 

18GA SSTL

2 1 0 1 D1002816 V1 ITM ELLIPTICAL BAFFLE TUBE MOUNT 6061-T6

3 1 1 2 D1001186 V1 18-8 SSTL

4 1 1 2 98017A220  WASHER, 3/4" 300 SSTL

5 2 1 3 N-7516-A  NUT, HEX, 3/4-16, UC COMP
AG 18-8 

SSTL

6 1 0 1 D1000684 V1 6061-T6 

7 1 0 1 D1002850 V1 ITM ELLIPTICAL DOWN TUBE ASSY 6061-T6

8 1 0 1 D1002582 V1 SLC BAFFLE TUBE UP ASSY

9 1 1 2 NAS 620-C10 WASHER, FLAT, #10 (OR EQUIVALENT) 300 SSTL

10 1 1 2  NUT, HEX, 10-24 300 SSTL

11 1 0 1 D1002340 V1 SLC ACB SUSPENSION ROD 316 SSTL

12 4 1 5 92200A546 SHCS, 1/4-20 X 1.5" LG. 300 SSTL

13 4 1 5 91240A029 NUT, HEX, 1/4-20 300 SSTL

14 4 1 5 90945A760 WASHER, FLAT, 1/4" 300 SSTL

15 4 1 5 92200A542 SHCS, 1/4-20 X 1.0" LG. 300 SSTL

16 4 1 5 SHCS, 1/4-20 X 0.5" LG 300 SSTL

SLC TUBE LOWER MTG PLATE

SCREW, 3/4-16 X 4", McMASTER 92198A390

SHEET 1 OF 1 12/13/2010 4:00 PM


